T2 EREREAE (FEHR)

F4F BREAOEHEODLGVEREMZOHE

fi. REANOARFODEVEENEDHE

2. EXREEYREK
(2) EXREVLERSR GrAXRER) OKRF

1 PEEFEFEY LSRR ER DL (FF Al R R (4 Fn e 48 FE R BAE)
R EE XS5y IR SR 3t
15 TV D K it 5% 0 4 4
1HTOVORAKRERR (L) 0 4 4
R QAT R/ s 0 1 1
15TV OREEER (FAYLTH) 0 2 2
15TV O BRI % 0 2 2
15 CVOREAIRR (R ITT) 0 1 1
JBEIH DMK Sy BiEfE R 0 1 1
JFEM D BERIEER 0 2 2
FEMOBERINERR  (RAILT) 0 2 2
BERE SUIBET Vi U o WOk 0 0 0
BET T AT 7 FEADRHE i % 0 12 12
BET T AT 7 FEORH R (AL 0 7 7
BET 7 AT 7 FEDOBEH MR 1 2 3
BET 7 AT 7 FEOBERMIRR (ML) 0 2 2
AL P XUTR N E O SRR (70 LFFAThEaR &) 3 128 131
AT RITBN O (F72 LIFAiEs & ds) (IAILHT) 3 74 77
a7 Y — MEEAHEE 0 0 0
IRERZ B T VDRV EERE R 0 0 0
T DhRMERR (ML D7) 1 0 1
PEEFEFM OREAiFE (FEEM & Te) 1 4 5
PEEFEEM OBEAIEER (MR & Te)  (RMLTT) 0 2 2
Bl 9 250 259
F 2 PEEBETEWEAIL S G a ek BRI RE T 7 A) ek S HiEk) (4 Fn7E 4 RBUTE)
REE Xy £ = BRI at

oW o 4 5 0 0 0

ZogE A gy 0 7 7

e %@£W% 0 3 3

(A T U 3 3 6

(T 0 | |

(ki)
G 3 14 17




#£ 3  FEEFEEMEANGY GFelxtRitiak) B SR AR 5 (AT B )
WX S P pr— A O AR
AL g A : !
R k& 3 0
SR 5 BEA : 0
HR K 3 0

1) HEHEH

HAFX U (A A2 TSRO 2)

H2) Ru
E3) MILHNETe

*4  PERBEIEWNEA R

AL B3 AR D Bl EORMEL E D 2B T L D HEHE FER D

BRI AR D Belr O SR TE D 58 FITBUE T D PR AL TES

FFAIGRY) TR OPET A D & A A% o L HHRE
FREBIAEAA | H~SFI24E3 A 31 B O R BE T o0 fti %

HEH AT DZ A A% HEE (ng-TEQ/nt)

5 Wi
7 - L B /ME~ Al
) 3 1.7 0.52~2.5
INZ
E% At (1) (0.52) (0. 52~0. 52)
=N o e 2 1.51 0.52~2.5
M BT ATy 78 (1) (0. 52) (0. 52~0. 52)
ﬁ 75 B | &THESTAF v 7 EHICEST -
A
% 523 MW | 2TESIRF v 7HEITE T -
1
| zom k<) © 2.1 2. 1~2.1
< RIS 1 OsdkIET -
~at 2 0.1125 0.015~0. 21
a (1) (0. 015) (0. 015~0. 015)
. ; 2 0.1125 0.015~0. 21
-~ i’/ﬁ\‘
s BT 72T 27 (D (0. 015) (0. 015~0. 015)
£ ! 0.015 0.015~0. 015
T 3 3
%a 7 e (1) (0. 015) (0. 015~0. 015)
N W acETT ATy s EICED : _
ZFoM RSP | &@TESZAF v 7HIIED - _
R ESE 0 - -
) () VTR oo FEUEE ] i e

(BE) BEFMBERRR DHET AT 2 X A A F 2 DO PEH AL

PRI DB Bk o HLHE BERR D S
4t /WPl k 0. Ing-TEQ/ i 1 ng-TEQ/ i
2t/ Wi~41t,/ 1 ng-TEQ/ ni 5ng-TEQ/ ni
2 t /IR 5ng-TEQ/m 10ng—TEQ/ n?




